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iz'uif=kdk lksMfo.;kiwohZ o`Qi;k [kkyhy lwpuk dkGthiwoZd okpk %

(1)	 ;k iz'uif=kosQr nksu foHkkx vkgsr- R;kiSdh foHkkx I eè;s izFke Hkk"kk fo"k;klkBh 1 rs 25 o foHkkx II eè;s xf.kr 
fo"k;klkBh 26 rs 75 vls ,owQ.k 75 iz'u vkgsr- loZ iz'u lksMfo.ks vko';d vkgs-

(2)	 izR;sd iz'uklkBh 2 xq.k vkgsr-

(3)	 iz'uif=kdk lksMfo.;klkBh ,owQ.k 90 fefuVkapk dkyko/h fnyk tkbZy-

(4)	 mRrjs uksanfo.;klkBh Lora=k mRrjif=kdk fnysyh vkgs- izR;sd iz'uozQekadkleksj pkj i;kZ;klkBh Øekxr orqZGs fnysyh 
vkgsr- R;krhy vpwd mRrjkpk i;kZ; ozQekad vlysys orqZG iq<hy mnkgj.kkr nk[kfoY;kizek.ks jaxok-

	 mnk- iz'u ozQ- 6 P;k cjkscj mRrjkpk i;kZ; ozQ- 2 vlsy] rj rks iq<hyizek.ks uksanokok-

	 iz'u ozQ- 6 	 	 	    

(5)	 [kkyhyizek.ks uksanfoysyh mRrjs xzkgÔ /j.;kr ;s.kkj ukghr- vls mRrj uksanfoY;kl R;k iz'ukl ^'kwU;* xq.k fnys tkrhy-

	 			 	 	 	     

(6)	 i;kZ;kph mRrjs uksanforkuk IkQDr dkGÔk fdaok fuGÔk jaxkP;k ckWyisupkp okij djkok- isfUlyus uksanfoysyh mRrjs xzkgÔ 
/j.;kr ;s.kkj ukghr-

(7)	 ,dnk uksanfoysyh mRrjs iqUgk cnyrk ;s.kkj ukghr-

(8)	 izR;sd iz'uklkBh ,dkis{kk vf/d orqZGkr uksanfoysyh mRrjs] [kkMk[kksM d:u uksanfoysyh mRrjs xzká /j.;kr ;s.kkj ukghr-

(9)	 iz'uif=kosQr izR;sd ikukoj [kkyh o 'ksoVP;k ikukoj dPps dke dj.;klkBh eksdGh tkxk vkgs] rsFksp dPps dke 
djkos-

(10)	 ijh{ksl e;kZfnr osG vlY;kus ,[kknÔk iz'ukps mRrj rqEgkyk ;sr ulY;kl iq<hy iz'u lksMok- 'ksoVh osG f'kYyd 
jkfgY;kl mjysY;k iz'ukalkBh iqUgk iz;Ru djk-

(11)	 ,[kknÔk iz'ukr =kqVh@pwd vk<GY;kl R;kckcr i;Zos{kd fdaok ijh{kk osaQnzlapkyd ;kaP;kdMs fopkj.kk d: u;s-

(12)	 iz'ukrhy =kqVh@pwd@vk{ksikckcrps fuosnu 'kkGsus fdaok ikydkauh xVf'k{k.kkf/dkjh fdaok f'k{k.kkf/dkjh ;kaP;kdMs ys[kh 
Lo:ikr u ikBork lacaf/r 'kkGsP;k ykWxhu e/wu vkWuykbZu i¼rhusp ikBokos-

(13)	 =kqVh@pwd@vk{ksikckcrps fuosnu vkWuykbZu i¼rhus ikBfo.;kph eqnr ijh{kk ifj"knsP;k laosQrLFkGkoj varfje (rkRiqjrh) 
mRrjlwph izfln~/ >kY;kiklwu 10 (ngk) fnolkai;Zar jkghy- 

(14)	 eqnz.knks"k fdaok vU; dkj.kkaeqGs iz'u pqdhpk vlY;kps vk<GY;kl rK lferhP;k vfHkizk;kuqlkj rks jn~n osQyk tkbZy-

(15)	 eqG ekè;eklkscr baxzth Hkk"ksrhy iz'uif=kdk fnysyh vkgs- ewG ekè;ekrhy lafnX/ iz'ukackcr baxzth iz'u igkosr-

iwoZ mPp izkFkfed f'k";o`Rrh ijh{kk (b;Ùkk 5oh)] isQczqokjh 2018

Alap

osG % 11-00 rs 12-30
,dw.k xq.k %150

iz'uif=kdk ozQ- I
i`"B %  32

ekè;e % ejkBh
izFke Hkk"kk o xf.kr

0 1 0 1
cSBd ozQ- 
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foHkkx I

izFke Hkk"kk

iz'u 1 rs 3%	 lkBh lwpukµ iq<hy mrkjk dkGthiwoZd okpwu fopkjysY;k iz'ukaP;k mRrjkapk 
;ksX; i;kZ; fuoMk

mUgs mrj.khyk ykxyh i{kh ?kjkdMs ijrw ykxys >kMkojns[khy [kwi'kk i{;kaph ?kjVh gksrh- R;kauh tsOgk 

ijrY;koj ikfgys] dh ,d vkxarqd ikgq.kk vkiY;k >kMkoj vkjkekr foJkarh ?ksr clyk vkgs] rsOgk 

vxksnj rs rj fcpdys- ex rks ikgq.kk cksyrks dk gs c?kk;yk gGwgGw R;kP;kHkksorh f?kjVÔk ?kkrY;k 

fdyfcykV osQyk] i.k psaMw dlyk oLrkn! rksaMkrwu pdkj 'kCn R;kus dk<yk ukgh- R;kyk okVys vki.k 

xIi jkfgyks Eg.kts vkiY;kyk fu:inzoh letwu oqQ.kh =kkl ns.kkj ukgh-

	 1.	 ikgq.kk >kMkoj ;s.;kph osG dks.krh vkgs\

	 (1)	ldkG 	 (2)	nqikj

 	 (3)	jk=k	 (4)	laè;kdkG

	 2.	 ^vkxarqd ikgq.kk* dks.k vkgs\

	 (1)	psaMw	 (2)	nqljk i{kh

	 (3)	?kjVs	 (4)	fu#inzoh izk.kh

	 3.	 iq<hyiSdh dks.kR;k 'kCnkpk lekukFkhZ 'kCn mrk ;kr vkyk ukgh\

	 (1)	vfrFkh	 (2)	f}t

	 (3)	=kklnk;d	 (4)	vkjke
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iz'u 4 rs 6%	 lkBh lwpukµ iq<hy ckreh dkGthiwoZd okpwu fopkjysY;k iz'ukaP;k mRrjkapk 
;ksX; i;kZ; fuoMk 

jk"Vªh; Lekjdkaeè;s IykfLVdcanh

uoh fnYyh  

	 	^LoPN Hkkjr LoPN Lekjd* eksfgespk Hkkx Eg.kwu ns'kkrhy loZ jk"Vªh; LekjosQ rlsp i;ZVu LFkGkaoj 

IykfLVd canhph ?kks"k.kk dj.;kr vkyh- dky fnYyh ;sFks osaQnzh; i;ZVuea=;kauh egkRek xka/h t;arhpk 

eqgwrZ lk/wu gh ?kks"k.kk osQyh- 

	 	loZ jk"Vªh; LekjdkaP;k ifjljkr laiw.kZ IykfLVdcanhph vaeycTkko.kh efgukHkjkr dj.;kps rlsp ;k 	

fBdk.kh LoPNrkx`g o mikgkjx`gkaph lqfo/k iqjfo.;kps funsZ'kgh R;kauh fnys-

	 4.	 ^IykfLVdcanh* gk dks.kR;k eksfgespk Hkkx vkgs\

	 (1)	 LoPN Hkkjr] lqanj Hkkjr 	 (2)	LoPN Hkkjr] LoPN Lekjd

 	 (3)	LoPN Hkkjr] vkepk Hkkjr  	 (4)	LoPN Lekjd] LoPN i;ZVd 

	 5.	 eksfgesvarxZr dks.kR;k lqfo/k iqjo.;kps funsZ'k fnys xsys\

	 (v)	LoPNrkx`g	 (c)	mikgkjx`g	 (d)	IykfLVd oLrw

	 (1)	 iQDr ^c* 	 (2)	^v*] ^c* vkf.k ^d*

 	 (3)	 iQDr ^d*	 (4)	iQDr ^v* o ^c*

	 6.	 eksfgesph ?kks"k.kk dks.kR;k fno'kh osQyh\

	 (1)	3 vkWDVkscj 	 (2)	31 tqyS

	 (3)	2 vkWDVkscj 	 (4)	1 vkWxLV
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iz'u 7 rs 9% lkBh lwpukµ iq<hy okD;krhy fo'ks"k.kkaph la[;k fdrh\

	 7.	 ^vdjkO;k gksMhyk cka/ysyh ckjkoh lkekukph gksMhns[khy Nku pkyyh gksrh*

	 (1)	rhu 	 (2)	pkj

	 (3)	nksu 	 (4)	ikp

	 8.	 iq<hyiSdh fuf'pri.ks ,dopuh uke vlysyk i;kZ; vksG[kk-

	 (1)	u'khc	 (2)	xqykc

	 (3)	tckc	 (4)	fg'ksc

	 9.	 iq<hy okD;kpk dkG vksG[kk-

		 vki.k pepe.kk ;k panzpkan.;kaph 'kksHkk igk;yk tkÅ-

	 (1)	HkwrdkG	 (2)	Hkfo";dkG

	 (3)	orZekudkG	 (4)	lk/kdkG

	10.	 iq<hyiSdh v'kq¼ 'kCnkpk i;kZ; dks.krk\ 

	 (1)	vj.;fyih	 (2)	mn~;e'khy

	 (3)	fuifpr	 (4)	ra=k'kqn~/

	11.	 iq<hyiSdh fuf'pri.ks iQDr iqfYyaxh uke vlysyk i;kZ; dks.krk\

	 (1)	osG	 (2)	<sdj

	 (3)	ckx	 (4)	fgjk
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	12.	 ^vpkud vkysY;k VksG/kMhus fidkapk ---------------- --------------- 

		 ojhy okD; vFkZiw.kZ gks.;klkBh ;ksX; i;kZ; fuoMk-

	 (1)	Jhx.ks'kk dj.ks	 (2)	fuxjk.kh dj.ks

	 (3)	cankscLr dj.ks	 (4)	iQUuk mMo.ks

	13.	 pkSdVhrhy v{kjs tqGowu r;kj gks.kk ;k Eg.khrhy MkohdMwu lkros v{kj dks.krs\

y

ik

jk Gs [kh y

pk

[kh

rks .kh r

	 (1)	ik	 (2)	pk

	 (3)	.kh	 (4)	[kh

iz'u 14 rs 16% lkBh lwpukµ iq<s lqlaxr ifjPNsnkph rhu okD;s fnyh vkgsr- ifjPNsnkph 
okD;s iw.kZ dj.;klkBh ;ksX; 'kCnkpk i;kZ; fuoMk

	14.	 nq"dkGh izns'k ---------------------- fgjokbZus uVyk-

	 (1)	mUgkeqGs	 (2)	ikolkeqGs

	 (3)	egkxkbZeqGs	 (4)	ukfidheqGs

	15.	 loZ ---------------------- nqFkMh Hk:u okgw ykxys-

	 (1)	unh&ukys	 (2)	Mcdh

	 (3)	ryko	 (4)	/j.ks
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	16.	 fulxkZP;k o`Qisus cGhjktk ---------------------- 

	 (1)	/kLrkoyk	 (2)	>sikoyk

	 (3)	lq[kkoyk	 (4)	fu<kZoyk

	17.	 iq<hyiSdh dks.krk 'kCn lax.kdk'kh lacaf/r ukgh\

	 (1)	;q>j	 (2)	̄ izV

	 (3)	U;wtisij	 (4)	usVooZQ

	18.	 xVkr u cl.kkjk 'kCn vksG[kk-

	 (1)	rqjax	 (2)	v'o 

	 (3)	ok:	 (4)	oqaQtj

	19.	 ^f'k{kk* ;k 'kCnkpk fo:¼kFkhZ 'kCn fuoMk-

	 (1)	izxrh	 (2)	c{khl

	 (3)	o`Qik	 (4)	iz'kalk

	20.	 [kkyhyiSdh vkyadkfjd 'kCn o R;kpk vFkZ vlysyh v;ksX; tksMh fuoMk-

	 (1)	lw;Zoa'kh&yodj >ksisrwu mB.kkjk

	 (2)	yaosQph ikoZrh&vaxkoj nkfxus ulysyh L=kh-

	 (3)	vkrY;k xkBhpk&laxGa eukr Bso.kkjk-

	 (4)	lkaxdkE;k&Lor%P;k eukus dkghgh u dj.kkjk
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	21.	^nksu u|k ,d=k feG.;kph tkxk* ;klkBh ;ksX; 'kCn i;kZ;kae/wu fuoMk

	 (1) 	mxe	 (2)	 fuxe

	 (3) 	laxe	 (4)	nqxZe

	22.	 [kkyhy lewgn'kZd 'kCn dks.kR;k ukeklkBh okijyk tkrks] gs i;kZ;karwu fuoMk  

^ekafn;kGh*

	 (1) 	HkDrkaph	 (2)	/kU;kph

	 (3) 	djoankaph	 (4)	lSfudkaph

	23.	 iq<hyiSdh fiywn'kZd 'kCnkaph pqdhph tksMh vlysyk i;kZ; vksG[kk

	 (1)	xk;&okl:	 (2)	gfj.k&'kkod

	 (3)	ok?k&cNMk	 (4)	eas<h&djMw

	24.	 iq<hyiSdh dks.kR;k i;kZ;krhy v{kjs ;ksX; Øekus tqGfoyh vlrk ^oht* ;k vFkkZpk 'kCn 

r;kj gksbZy\

	 (1)	uh&;k&fe	 (2)	fe&nk&uh&lkS

	 (3)	fx&r&.kh&ja	 (4)	fx&jk&.kh

	25.	 ^ekÖ;k Hkkokyk dkjY;kapk Hkko tkLrp okVyk* ;k okD;krhy v/ksjsf[kr 'kCnkpk ;ksX; 

vFkZ i;kZ;kae/wu vksG[kk-

	 (1)	HkkÅ	 (2)	vankt

	 (3)	nj	 (4)	fg'ksc
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foHkkx II

xf.kr

	26.	lkMs vMrhl gtkj $ lOok rhu'ks $ ikÅ.k'ks ¾\  

	 (1) 	38,900			   (2)	39,600

	 (3) 	38,625			   (4)	38,800

	27.	la[;kekfyosQrhy Øe vksG[kwu iz'ufpUgkP;k tkxh ;s.kkjh la[;k 'kks/k o frps okpu 

n'kZfo.kkjk i;kZ;fuoMk

	  	4,17,805        	 \        4,17,797        	 4,17,793

	 (1)	pkj y{k lrjk gtkj vkB'ks

	 (2)	,DosQpkGhl y{k lkr gtkj ,D;k,sa'kh

	 (3)	pkj y{k ,d gtkj vkB'ks ,d

	 (4)	pkj y{k lrjk gtkj vkB'ks ,d

	28.	,dk la[;spk frljk Hkkx 33 vkgs rj rh la[;k dks.krh\

	 (1) 	99			   (2)	11

	 (3) 	36			   (4)	30
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Section II

Mathematics

	26.	 Thirty eight and half thousand + Three and a Quarter hundred + Three 
quarter hundred=?

	 (1) 	38,900			   (2)	39,600

	 (3) 	38625			   (4)	38,800

	27.	 Observe the number series and select the appropriate number, which is 
written in words, from the alternatives given below.

	  	417805        	 \        417797        	417793

	 (1) 	Four lakh seventeen thousand and eight hundred.

	 (2)	 Forty-one lakh seven thousand and eighty-one

	 (3) 	Four lakh one thousand eight hundred and one.

	 (4)	 Four lakh seventeen thousand eight hundred and one.

	28.	 One-third part of a number is 33, find the number.

	 (1) 	99			   (2)	11

	 (3) 	36			   (4)	30
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	29.	nksu lekarj js"kk ijLijkauk ------------------

	 (1)	Nsnrkr	 (2)	ok<foY;kuarj Nsnrkr

	 (3)	d/hgh Nsnr ukghr	 (4)	yac vlrkr

	30.	dkstkfxjh ikSf.kZeslkBh 500 fefy P;k 12 fi'kO;k nw/ vk.kys rj ,owQ.k fdrh fyVj nw/ 

vk.kys\

	 (1) 	6000			   (2)	60

	 (3) 	6			   (4)	10

	31.	`500 eqíykaps n-lk-n-'ks 8 njkus 3 o"kk±ps ljGO;kt fdrh\

	 (1) 	̀ 240 			   (2)	`120 

	 (3) 	̀ 500			   (4)	`400

	32.	[kkyhyiSdh ;ksX; fo/ku dks.krs\

	 (1)	foØh ¯der [kjsnh ¯derhis{kk deh vlY;kl uiQk gksrks-

	 (2)	[kjsnh ¯der foØh ¯derhis{kk deh vlY;kl rksVk gksrks-

	 (3)	[kjsnh ¯der foØh ¯derhis{kk tkLr vlY;kl uiQk gksrks-

	 (4)	foØh ¯der [kjsnh ¯derhis{kk tkLr vlY;kl uiQk gksrks-
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	29.	 Two parallel lines ___________________ each other.

	 (1) 	intersect	 (2)	 after extending, intersect

	 (3) 	never intersect	 (4)	 are perpendicular to

	30.	 12 packets of milk of 500 ml each were brought on occasion of Kojagiri 
Pournima. Find out how many litres of milk were brought.

	 (1) 	6000			   (2)	60

	 (3) 	6			   (4)	10

	31.	 At a rate of 8 P.C.P.A, what will be the interest for 3 years on the principal ̀  500?

	 (1) 	̀  240			   (2)	` 120

	 (3) 	̀  500			   (4)	` 400

	32.	 Which of the following statements is true?

	 (1) 	If cost price is greater than selling price, then there is a profit.

	 (2)	 If selling price is greater than cost price, then there is a loss.

	 (3) 	If selling price is less than cost price, then there is a profit.

	 (4)	 If cost price is less than selling price then there is a profit.
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	33.	jkseu la[;k fpUgkuqlkj

		  XVII + IX – IV + C = ?

	 (1) 	72	 (2)	 122	 (3) 	522	 (4)	1022

	34.	24 rk'kh ?kMÔkGkizek.ks fozQosQVpk lkeuk 10 oktrk lq: gksmQu 15%45 yk laiyk rj 

lkeuk 12 rk'kh ?kMÔkGkizek.ks fdrh oktrk laiyk\

	 (1) 	4:45			   (2)	3:45

	 (3) 	2:45			   (4)	15:45

	35.	,dk taxykr ckHkGhph 15%] lkxkph 45%] iGlkph 20% o mjysyh tkaHkGkph >kMs 

vkgsr- tj taxykr ,owQ.k 5000 >kMs vlrhy rj tkaHkGkph fdrh >kMs vlrhy\ 

	 (1) 	2750	 (2)	 1500	 (3) 	1000	 (4)	750

	36.	6 rkl 52 fefuVs = ________________ fefuVs

	 (1) 	412	 (2)	 360	 (3) 	512	 (4)	422

	37.	[kkyhyiSdh dks.krs fo/ku vlR; vkgs\

	 (1) 	100 pk 'ksdMk 20 = 20	 (2)	200 pk 'ksdMk 10 = 20

	 (3) 	400 pk 'ksdMk 5 = 20	 (4)	300 pk 'ksdMk 10 = 20
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	33.	 According to Roman numerals.

		  XVII + IX – IV + C = ?

	 (1) 	72	 (2)	 122	 (3) 	522	 (4)	1022

	34.	 According to the 24-hour clock, a cricket match started at 10 o'clock. What 
will be the time according to 12-hour clock, if the match is ended at 15:45?

	 (1) 	4:45			   (2)	3:45

	 (3) 	2:45			   (4)	15:45

	35.	 In a forest, there are 15% Babul trees, 45% teakwood trees, 20% Jackfruit  
trees and remaining are Jamun trees. If there are 5000 trees in all, then tell 
the number of Jamun trees.

	 (1) 	2750			   (2)	1500

	 (3) 	1000			   (4)	750

	36.	 6 hours 52 minutes = ________________minutes.

	 (1) 	412			   (2)	360

	 (3) 	512			   (4)	422

	37.	 Which of the following statement is false?

	 (1) 	20 percent of 100 = 20	 (2)	 10 percent of 200 = 20

	 (3) 	5 percent of 400 = 20	 (4)	 10 percent of 300 = 20
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	38.	4, 5, 6, 0, 8 gs vad ,dnkp oki:u r;kj gks.kkjh eksBÔkr eksBh la[;k o ygkukr ygku 

la[;k ;kaP;k csjtsph fueiV fdrh\

	 (1) 	1,27,108			   (2)	45,554

	 (3) 	63,554			   (4)	91,108

	39.	tj p = 3, t = 2 vlsy rj

		  p × p + 2 × p × t + t × t = ?

	 (1) 	21	 (2)	 25	 (3) 	24	 (4)	17

	40.	jksfgryk n- lk- n- 'ks- 7 njkus ,dk eqíykps 3 o"kkZps ljGO;kt 2520 : feGkys rj eqíy 

fdrh\

	 (1) 	15,000			   (2)	21,600

	 (3) 	1,500			   (4)	12,000

	41.	0, 5, 6, 7 gs vad ,dnkp oki:u tkLrhr tkLr fdrh rhu vadh le la[;k r;kj gksrhy\

	 (1) 	10	 (2)	 12	 (3) 	14	 (4)	18

	42.	 8.8 + 8.08 + 8.008 + 8.0808 + 88.8 = ?

	 (1) 	88.8888			   (2)	88.7688

	 (3)	 121.7688			   (4)	821.88
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	38.	 What will be the half of the number obtained on adding the biggest number 
and smallest number formed by using the digits 4, 5, 6, 0, 8 only once?

	 (1) 	1, 27, 108	 (2)	45,554

	 (3) 	63, 554	 (4)	91,108

	39.	 If p = 3, t = 2 then

		  p × p + 2 × p × t + t × t = ?

	 (1) 	21	 (2)	25

	 (3) 	24	 (4)	17

	40.	 Rohit received an interest of ̀  2520 at the rate 7 P.C.P.A after 3 years. Find 
out the principal for which he received this interest.

	 (1) 	̀ 15,000	 (2)	`21,000

	 (3)	 `1,500	 (4)	`12,000

	41.	 How many 3-digit even numbers will be formed using the digits 0, 5, 6, 7 
only once?

	 (1) 	10	 (2)	 12	 (3) 	14	 (4)	18

	42.	 8.8 + 8.08 + 8.008 + 8.0808 + 88.8 = ?

	 (1) 	88.8888	 (2)	88.7688

	 (3) 	121.7688	 (4)	821.88
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	43.	?kMÔkGkr pkj oktys vkgsr- ?kMÔkGkP;k rkl dkVk o fefuV dkVk ;k nksUgh dkVÔkaeè;s 

dks.kR;k izdkjpk dksu gksrks\ 

	 (1) 	fo'kkydksu	 		 (2)	dkVdksu

	 (3) 	y?kqdksu	 		 (4)	ljGdksu

	44.	 17
8   23

6  pkSdksukP;k tkxh dks.krs fpUg ;sbZy\

	 (1) 	>	 (2)	 <	 (3) 	=	 (4)	∧

	45.	^uÅ n'ky{k uÅ* gh la[;k vadkr fygk-

	 (1) 	9,00,009	 (2)	90,00,009

	 (3) 	9,00,00,009	 (4)	90,009

	46.	,dk daiuhus fnokGh fufeRr vkiY;k 60 deZpkÚ;kauk izR;sdh v/kZ fdyksxzWe ;kizek.ks feBkbZ 

okVyh- `320 izfrfdyks ;k njkus feBkbZ [kjsnh osQyh vlY;kl daiuhyk ,owQ.k fdrh [kpZ 

vkyk\

	 (1) 	̀ 19,200			   (2)	`10,600

	 (3) 	̀ 9,600			   (4)	`9,200

	47.	uÅ gtkj uÅ'ks ps uÅ VDosQ fdrh\

	 (1) 	891	 (2)	 881	 (3) 	991	 (4)	999
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	43.	 In a clock, what type of angle is formed between the hour hand and minute 
hand at 4 o'clock?

	 (1) 	Obtuse angle	 (2)	Right angle

	 (3) 	Acute angle	 (4)	Straight angle

	44.	 Put the appropriate sign in the box.

		  17
8   23

6
	 (1) 	>	 (2)	 <	 (3) 	=	 (4)	∧

	45.	 Write the number 'ninety lakh and nine' in figures.

	 (1) 	9,00,009	 (2)	 90,00,009

	 (3) 	9,00,00,009	 (4)	 90,009

	46.	 A company distributed half kg of sweets to each of its 60 employees on the 
occasion of Diwali. If the sweets were purchased at the rate `320 per kg, 
then what was the expenditure made by the company?

	 (1) 	̀ 19,200	 (2)	`10,600

	 (3) 	̀ 9,600	 (4)	`9,200

	47.	 What will be nine percent of nine thousand and nine hundred?

	 (1) 	891	 (2)	 881	 (3) 	991	 (4)	999
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	48.	[kkyh fnysY;k vko`Qrhph ifjferh fdrh\

	 (1) 	19.5

	 (2)	 23.5

	 (3) 	14.5	

2

3
3.5

2

4

	 (4)	 18.5

	49.	   5 ×   5 = 13225 pkSdksukP;k tkxh leku vad vkgs rj rks vad dks.krk\	

	 (1) 	4	 (2)	 3	 (3) 	2	 (4)	1

	50.	5,45,035  ;k la[;se/hy n'kgtkj LFkkuh vlysY;k vadkph LFkkfud ̄der o n'kd LFkkuh 

vlysY;k vadkph LFkkfud ¯der ;krhy iQjd fdrh\

	 (1) 	39,990	 (2)	39,000

	 (3) 	39,970	 (4)	39,770

	51.	,dk la[;syk 25 us Hkkxys vlrk Hkkxkdkj 13 ;srks o ckdh 22 ;srs rj rh la[;k dks.krh\

	 (1) 	355	 (2)	 365	 (3) 	350	 (4)	347

	52.	/us'kus 50 o 100 :i;kaP;k izR;sdh 8 uksVk c¡osQr nsÅu R;k jdesP;k 10 P;k uksVk 

ekfxrY;k- rj R;kyk 10 :i;kaP;k fdrh uksVk feGrhy\

	 (1) 	80	 (2)	 100	 (3) 	120	 (4)	110
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	48.	 What will be the perimeter of the figure given below.

	 (1) 	19.5

	 (2)	 23.5

	 (3) 	14.5	

2

3
3.5

2

4

	 (4)	 18.5

	49.	 If the digit is same in all the boxes, then find the digit.

		    5 ×   5 = 13225

	 (1) 	4	 (2)	 3	 (3) 	2	 (4)	1

	50.	 In the number, 5,45,035, what will be the difference between the place value 
of the digit at Ten thousands place and place value of the digit at tens place?

	 (1) 	39,990	 (2)	39,000

	 (3) 	39,970	 (4)	39,770

	51.	 On dividing a number by 25, we get quotient 13 and remainder 22. what 
will be the number?

	 (1) 	355	 (2)	 365	 (3) 	350	 (4)	347

	52.	 Dhanesh went to a bank with 8 notes of ` 50 and ` 100 each and asked for 
notes of  ` 10 in return. How many notes of ` 10 would Dhanesh receive?

	 (1) 	80	 (2)	 100	 (3) 	120	 (4)	110
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	53.	39 P;k lokZr eksB;k foHkktdkeè;s 27 pk lokZr ygku foHkktd feGoyk vlrk ;s.kkÚ;k 

la[;sP;k loZ foHkktdkaph csjht fdrh\

	 (1) 	80	 (2)	 90	 (3) 	100	 (4)	89

	54.	 7
5 × 5

7 + 1 = ?

	 (1) 	36
35	 (2)	 13

35	 (3) 	2	 (4)	1

	55.	5656 ÷ 8 ;k mnkgj.kkr Hkktd 1 us deh osQyk rj Hkkxkdkj fdrhus ok<sy\

	 (1) 	1	 (2)	 10	 (3) 	100	 (4)	101

	56.	,d xkMh rk'kh 80 fdyksehVj varj ikj djrs rj [kkyhyiSdh dks.krs fo/ku pqdhps vkgs\ 

	 (1)	xkMh ,dk rklkr 80 fdeh varj ikj djrs-

	 (2)	xkMh vè;kZ rklkr 40 fdeh varj ikj djrs-

	 (3)	xkMh ,d rkl 25 fefuVkr 100 fdeh varj ikj djrs- 

	 (4)	xkMh ,d rkl 45 fefuVkr 140 fdeh varj ikj djrs-

	57.	12 ehVj] 3 fefyehVj n'kka'k viw.kk±dkr dls fygky\

	 (1) 	12.03 ehVj	 		 (2)	12.003 ehVj

	 (3) 	12.3 ehVj	 		 (4)	12.0003 ehVj
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	53.	 Find the sum of all the divisors of the sum of the highest divisor of 39 and 
the lowest divisor of 27.

	 (1) 	80	 (2)	 90	 (3) 	100	 (4)	89

	54.	
7
5  × 

5
7  + 1 = ?

	 (1) 	
36
35 	 (2)	

13
35 	 (3) 	2	 (4)	1

	55.	 If the divisor of the division '5656 ÷ 8' is reduced by 1, then by how much 
will the quotient increase ?

	 (1) 	1	 (2)	 10	 (3) 	100	 (4)	101

	56.	 If a car travels at 80 km per hour, then which of the following statement is 
false?

	 (1) 	Car covers a distance of 80 km in one hour.

	 (2)	 Car covers a distance of 40 km is half an hour.

	 (3) 	Car covers a distance of 100 km is one hour 25 minutes.

	 (4)	 Car covers a distance of 140 km in one hour 45 minutes.

	57.	 How will you write, 12 m. 3 mm. in decimal form?

	 (1) 	12.03 metre			   (2)	12.003 metre	

	 (3) 	12.3 metre	 (4)	 12.0003 metre
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	58.	 2 nLrk dkxn $ 5 M>u dkxn ¾ fdrh dkxn\

	 (1) 	108	 (2)	100

	 (3) 	480	 (4)	88

	59.	 6
18 ;k viw.kk±dkr 6

18 fdrh osGk feGfoY;kl csjht 3 ;sbZy\

	 (1) 	9 osGk	 (2)	18 osGk

	 (3) 	8 osGk	 (4)	12 osGk

	60.	tkWuus ,d eksVjlk;dy `20]000 yk [kjsnh d:u `25]000 yk fodyh rj ;k O;ogkjkr 

R;kyk fdrh :i;s  uiQk vFkok rksVk >kyk\

	 (1) 	̀  2000 uiQk	 (2)	` 5000 uiQk

	 (3)	 ` 5000 rksVk	 (4)	` 2000 rksVk

	61.	 'kstkjhy vko`Qrh nqeMwu ?ku cufoY;kl 5 gk vad vlysY;k i`"BkP;k yxrP;k i`"Bkoj 

dks.krk vad ;s.kkj ukgh\

1
4 6 2

5
3

	 (1) 	4	 (2)	 1	 (3) 	2	 (4)	3
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	58.	 2 quires (dasta) papers + 5 dozen papers =  papers.

	 (1) 	108	 (2)	100

	 (3) 	480	 (4)	88

	59.	 For getting 3, as a sum, how many times will you add 6
18 to 

6
18 ?

	 (1) 	9 times	 (2)	18 times

	 (3) 	8 times	 (4)	12 times

	60.	 John purchased a motor cycle for ` 20,000 and sold it for ` 25,000. Did he 
make a profit or loss and how much?

	 (1) 	Profit of ` 2000	 (2)	Profit of ` 5000

	 (3) 	Loss of ` 5000	 (4)	Loss of ` 2000

	61.	 The net of a cube-shaped number die is given below. Which number will 
not come on the adjacent surface of the surface which has number 5 on it?

1
4 6 2

5
3

	 (1) 	4	 (2)	 1	 (3) 	2	 (4)	3
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	62.	6 lseh :a nh vlysY;k vk;rkph ifjferh 34 lseh vkgs- R;kP;k ykachP;k nqiVh,o<h cktw 

vlysY;k pkSjlkps {ks=kiQG fdrh\

	 (1) 	576 pkS- lseh-	 (2)	484 pkS- lseh-

	 (3) 	441 pkS- lseh-	 (4)	169 pkS- lseh-

	63.	48 eh- ykach o 12 eh- :a nh vlysY;k gkWyyk 64 pkSjlko`Qrh VkbZYl ykxrkr rj izR;sd 

VkbZyph ifjferh fdrh\

	 (1) 	9 eh-	 (2)	81 eh-

	 (3) 	8 eh-	 (4)	12 eh-

	64.	2016 lkypk ifgyk fnol 'kqØokjh ;srks rj 2017 lkykryk ejkBh Hkk"kk fnu dks.kR;k 

fno'kh ;sbZy\

	 (1) 	lkseokj	 (2)	jfookj

	 (3) 	eaxGokj	 (4)	'kfuokj

	65.	jkgqyus ̀ 15]000] 3 o"kk±lkBh dkgh njkus lqHkk"kyk okijk;yk fnys- lqHkk"kus R;kyk ̀ 4500] 

O;kt fnys rj O;ktkpk nj n-lk-n-'ks- fdrh vlsy\

	 (1) 	10%	 (2)	15%

	 (3) 	9%	 (4)	8%
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	62.	 Perimeter of a rectangle with breadth 6 cm is 34 cm. What will be the area 
of the square with the side equal to the twice of the length of the given 
rectangle?

	 (1) 	576 sq. cm	 (2)	 484 sq. cm

	 (3) 	441 sq. cm	 (4)	 169 sq. cm

	63.	 A hall with length 48 m. and breadth 12 m. requires 64 square-shaped tiles. 
What will be the perimeter of each tile?

	 (1) 	9 m.	 (2)	81 m.

	 (3) 	8 m.	 (4)	12 m.

	64.	 If it is friday on the first day of year 2016, then on which day will Marathi 
Language day fall in the year of 2017?

	 (1) 	Monday	 (2)	Sunday

	 (3) 	Tuesday	 (4)	Saturday

	65.	 Rahul lended ` 15000 to Subhash for 3 years at some rate. If Subhash gave 
Rahul an interest of ` 4500, then what was the rate of interest P.C.P.A ?

	 (1) 	10%	 (2)	15%

	 (3) 	9%	 (4)	8%
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	66.	27 'krd × 3 n'kd – 5 ,dd = fdrh?

	 (1) 	80,885	 (2)	80,085

	 (3) 	81,985	 (4)	80,995

	67.	,dk la[;syk 16 us xq.k.;k,soth 10 us xq.kys vlrk xq.kkdkj 30 us deh gksrks rj rh 

la[;k dks.krh\

	 (1)	 5	 (2)	6

	 (3)	 8	 (4)	10

	68.	,dk nqdkunkjkus 50 fd-xWz- TokjhiSdh 40 fd- xWz- 250 xWz- Tokjh fodyh- rj R;kP;kdMs 

fdrh Tokjh f'kYyd jkfgyh\

	 (1)	 10 fd-xzW-	 (2)	10 fd-xzW- 250 xzW-

	 (3)	 9 fd-xzW- 250 xzW-	 (4)	9 fd-xzW- 750 xzW-

	69.	?kukP;k dMk ;k ?kukP;k f'kjks¯cnw o i`"BkaP;k csjtsis{kk fdrhus deh vFkok tkLr vkgs\ 

	 (1) 	2 us tkLr	 (2)	4 us deh

	 (3) 	2 us deh	 (4)	4 us tkLr
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	66.	 27 Hundreds × 3 Tens - 5 units = ?

	 (1) 	80,885	 (2)	80,085

	 (3) 	81,985	 (4)	80,995

	67.	 When a number is multiplied by 10 instead of 16, its product decreases by 
30, then find the number.

	 (1) 	5	 (2)	6

	 (3) 	8	 (4)	10

	68.	 A shopkeeper sold 40 kg 250 g of Jowar out of 50 kg. How much Jowar is 
left with the shopkeeper?

	 (1) 	10 kg	 (2)	10 kg 250 g

	 (3) 	9 kg 250 g	 (4)	9 kg 750 g

	69.	 By how much is the edges of the cube and sum of the vertices and faces of 
cube is more or less?

	 (1) 	more by 2	 (2)	less by 4

	 (3) 	less by 2	 (4)	more by 4
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	70.	[kkyh fnysY;k inkoyhr pkSdVhr Øekus dks.krh ;ksX; fpUgs ;srhy\

		 48   6    2   5   5

	 (1) 	=, ×, +, –	 (2)	÷, +, –, =

	 (3) 	÷, +, +, =	 (4)	÷, ×, +, =

	71.	,dk ckxsr ,owQ.k 60 >kMs vkgsr- R;kiSdh 1
3 >kMs vkaC;kph] 1

2 >kMs ukjGkph o mjysyh 

>kMs iQ.klkph vkgsr rj ckxsr iQ.klkph fdrh >kMs vkgsr\

	 (1) 	10	 (2)	20

	 (3) 	30	 (4)	40

	72.	18 × 4 – 6  70 × 2 ÷ 2 – 4 pkSdksukP;k tkxh dks.krs fpUg ;sbZy\

	 (1) 	∧	 	 	 (2)	>

	 (3) 	<			   (4)	=

	73.	2016 lkyh ukrkGph lqV~Vh jfookjh vkyh rj 2017 lkyh egkjk"Vª fnu dks.kR;k fno'kh 

;sbZy\

	 (1) 	lkseokj	 (2)	jfookj

	 (3) 	eaxGokj	 (4)	cq/okj
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	70.	 By which order of operations boxes will replace, to get the balanced equation.

		  48   6    2   5   5

	 (1) 	=, ×, +, –	 (2)	÷, +, –, =

	 (3) 	÷, +, +, =	 (4)	÷, ×, +, =

	71.	 A garden has 60 trees in all. Out of which 
1
3  trees are of mango, 

1
2  trees are 

of coconut and remaining are Jackfruit trees. How many jackfruit trees 

are there in the garden?

	 (1) 	10	 (2)	20

	 (3) 	30	 (4)	40

	72.	 Put the appropriate sign in the box.

		  18 × 4 – 6  70 × 2 ÷ 2 – 4 

	 (1) 	∧	 (2)	>

	 (3) 	<	 (4)	=

	73.	 If Christmas falls on Sunday of the year 2016 then on which day will 
Maharashtra Day fall in the year 2017?

	 (1) 	Monday	 (2)	Sunday

	 (3) 	Tuesday	 (4)	Wednesday.
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iz'u 74 rs 75% lwpukµ [kkyhy fp=k:i ekfgrhP;k vk/kjs [kkyhy iz'ukaph mRrjs fygk-

vkoM.kkjk fo"k; fo|kFkhZ la[;k

xf.kr     

ejkBh    

baxzth   

foKku     

	 	(izek.k : 1  = 35 fo|kFkh)

	74.	rDR;krhy fo|kF;k±ph ,owQ.k la[;k fdrh\

	 (1) 	470	 (2)	450

	 (3) 	350	 (4)	490

	75.	xf.kr vkoM.kkÚ;k fo|kF;k±ph la[;k gh baxzth vkoM.kkÚ;k fo|kF;k±P;k la[;sis{kk fdrhus 

tkLr vkgs\

	 (1) 	245	 (2)	105

	 (3) 	115	 (4)	255
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Instructions for Q. Nos. 74 to 75 : Observe the pictograph given below and 
answer the questions.

Favourite subject Number of students.

Mathematics     

Marathi   

English   

Science    

		  [Scale : 1  = 35  students]

	74.	 What is the total number of students?

	 (1) 	470	 (2)	450

	 (3) 	350	 (4)	490

	75.	 By how much the number of students who like Mathematics is greater than 
the number of students who like English?

	 (1) 	245	 (2)	105

	 (3) 	115	 (4)	255
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